@ @ @ .\ Multiply decimals by powers of ten

Name: Date: Score:
6.438 x 100 = 4.283 x 100000 =
9.084 x 10 = 5.223 x 100 =
5.596 x 100 = 10.894 x 10 =
1.935 x 1000000 = 10.204 x 100 =
6.347 x 1000 = 10.321 x 100000 =
4.118 x 10 = 4.729 x 1000 =
9.522 x 1000 = 8.152 x 10 =
1.564 x 10000 = 8.325 x 100000 =
7.923 x 1000000 = 2.105 x 100 =
5.547 x 100000 = 6.32 x 10000 =
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@ @ @ '\ Multiply decimals by powers of ten

Name: Date: Score:
6.438 x 100 = 643.8 4.283 x 100000 = 428300
9.084 x 10 = 90.84 5.223 x 100 = 522.3
5.596 x 100 = 559.6 10.894 x 10 = 108.94
1.935 x 1000000 = 1935000 10.204 x 100 = 1020.4
6.347 x 1000 = 6347 10.321 x 100000 = 1032100
4118 x 10 =41.18 4.729 x 1000 = 4729
9.522 x 1000 = 9522 8.152 x 10 = 81.52
1.564 x 10000 = 15640 8.325 x 100000 = 832500
7.923 x 1000000 = 7923000 2.105 x 100 = 210.5
5.547 x 100000 = 554700 6.32 x 10000 = 63200
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